20km

36k

2011 5 4 16 00

*1 GM( )

*2

*3 Nal( )

*4

/

1 62k 5 4 8 46 127
2 56k 5 4 9 20 157
3 45k 4 10 10 247
5 e 4 11 10 047
6 T 4 11 30 05"
L 32k 4 11 40 06"
14 34K 4 12 52 027
15 T 4 12 36 057
31 a0k 4 11 16 717
32 ik 4 11 34 169
33 o 4 11 49 1337
34 0k 4 13 50 417
36 a0k 4 10 57 307
37 48k 4 10 02 26"
38 ™ 4 12 27 057
39 @t 4 10 39 0.7
43 ok 4 10 42 0.6
1 o 4 13 37 06
11 T 5 4 9 34 037 (NBC )
12 ik 4 13 23 037
12 ik 4 10 12 037 (NBC )
13 - 4 12 43 047
13 - 4 10 29 017 (NBC )
74 4 11 01 02"




*1 GM(

*2
*3 Nal(
*4
( /
75 a3k 10 38 017
76 ok 10 53 027
17 FT— 11 36 127
79 o 10 46 927 (NBC
_80_ o 12 21 037
80 o 8 18 057 (NBC
81 sk 11 13 2167 (NBC
83 o 10 58 4327 (NBC
84 a0k 10 03 027
85 sk 6 00 037
86 s3km 6 00 097
87 29km 11 26 —92
87 sokm 6 00 08"
101 55k 9 43 097
103 2ok 12 51 017
105 25km 12 08 057
106 a0k 10 15 027
107 T 13 08 187
108 aokm 13 26 187

()71:




12

85
0.3

36
3.0

34
41

86
09

31
71
1
\)
-;'a. )
4

37
2.6

0.9 f .

o
|
. - r
™, T,
Taz, v =4 g '.I i
'." - Y r |
! wl
¥ ¥ bl
.2 = M .
— /
o o =~ = o
) |'.
. f :
i '
P T/
1
=i E r 4 g
— & -

iy

+,
p—14
- L

_‘N_ #
L
| r
) =
4 I, " | LY
b X ;“ . - ]
e F 4t 7
')

101 P

33
133

39

o7

04

P
" |
e
¥

0.6

107
18

103
0.1

83

. : I. -'> ¥
e N 'i. / _,'f
—_— g {
P . 7 = i
/ g =
‘l' i - 1 et
e [ [ Py
T AR Y f !
- . - . R i 1
e | [, | § - v
e L9
- A A ] - Wt
F ol = i |
AN
14 L i~ P L 15
0.2 e, |r s :F'_ =
R L F 05
i = 7
S A\ AN A =
- J! : L
\ fo_ ! -
LA 106
A X~ 02

84
0.2

43
0.6

L
F 4 ‘
o\ 2 & 6
&/ 05
2.4
IS A 108 81 80
) N 2T 18 21.6 0.3
~¥/ 05
. P e !
. 32 ¥ e
16.9 T
~ L3 79
/4, = 9.2
1 L4
(=) V& X
7 e
- --.-'I_ % r ) ...h.
1
— 105
— I': F:' ik '.I 05
2 ﬂ:‘ - - :

76
0.2

77
12

432

71
0.6
0.3

74
0.2

73
0.4
0.1

38
05

72
0.3
0.3




TRERY,
(Flo] A2 A B E)

250,000
100,000
50,000

At

=
- o

[250,0000t01 2 AIH E/&H 2]

Ol At
—

re

10,000

[10,000010| AZ AIH E/Q12¢] g2 zoemas

9 »
S0 AI390 S4101H290 7%/ !
[2,4000t0| A2 AIHE /A2 ]i ﬁ.
\

*
UiXioA480 21 2
EFEOHA—HZG&/ I

= AL 2] THOI(H 2t
(818 82X X012 =]

CER-52 2] 3 (2=2)
(D=0l o8t $$@9| %DP
[2000}0| A ZAIHE/ZE]

MHel SEAML Ak =&

[2201013 2 AIHE/H 2H] W0 o3 BOtxI(212))

S0 A e =£2

[100t0| A2 AIHE/AHZ] ™ sz oi=xea

X Sv[AIHE]=2ZAID SF0 2t =S E= (%) x Gy [2al0l]
_|

AN2OUXE "X 2002"E 2FHSH0AM =Y

[100, OOOD}OIEEAI |:|'| E/A2H]

t”/\}d L2 SAAL S 2H0 2eE 3FE - a2
FXFOI I 1R Gl = Abst

[50 OOODPOIEEAI HE/HAH 2]

% Xd HEH oS
B AACTAH) (18)

6,9000t0| A2 AIHE/3]]

(1sh

_;[600[] OlI3ZAHE/3I]

AN LT L (Z4R) Feiol
et E.\_Lx|(043|-)
(AHUAM= 0l SEXIE 2222 251D US.

X Xd, rdUlA=E 1

[500t0| A2 AIHE/H 2t

)

E/H2t]

]




	【韓国】③�
	スライド番号 1

	
	【修正4月10日】(韓訳版)日常生活と放射線放射線.pdf
	スライド番号 1



